r £, W STAINLESS STEEL
vt r EVMVERTICAIL MULTISTAGE PUMP

==

TEL: *#86-635-6988830
EAX: +86-535-6988877

ooooooooooooooooooooooooooo

No.7,Dengsanhdan Zhong Road,Chaoyang Distfict,Peking 100020.PRC

EBARA MACHINERY (CHINA) CO., LTD.



Ebara Machinery (China) Co., Ltd
As the wholly owned subsidiary company of Ebara Subsidiary

Corporation, Ebara Machinery (China) devotes itself to the
expansion of Ebara's wind and hydraulic power business in
China and supplying of advanced general pump, cooling
tower, water supply system, heat exchanger and water
treatment products and other services with high quality for
clients.

Ebara is famous for producing advanced water pump, water
supply system, cooling fower and heat exchanger. As a
combined environment engineering enterprise, Ebara is
staffed with over 15000 employees with its business covered 24
countries across the world. there are more than 107
production bases, branches and R&D research centers. By
now, Ebara has moad contributions to different fields and is
enjoying reliability from tens of thousands of clients across the
world.

Ebara Machinery (China) would make great efforts to
promote the development of local clients; And as a part of
Ebara Corporation, our mission is to offer strong strategic
support to Ebara.

MACHINERY
(CHINA)

Index --------oo 1
[ 6] | ) ] R T 2
S (D ] 1 3
Selection Chart - ----- - 4
Performance Date - ---- - - - - - oo 5-6
Dimensions - - - - . 7-9
WEIE [RENTHE) mmmmmmmm e e 10-12

NOTE:ALL SPECIFICATIONS ARE SUBJECT TO CHANGE WITHOUT NOTICE

01



EVM

B Model Code

EVM

Single phase only

Power output in KW

50 Hz

Flanges N Oval flanges
F Round flanges
No.of reduced diameter impellers(Only EVM32-64)

No.of impellers

m?3/h at max.efficiency

Model series |EVMG

02

EVM
EVML

Type
Type of liquid
Liquid Temperature[ C]
Handled Max solid content

Max chlorine ion density
[MPa]
[bar]

Maximum working pressure

Construction

Shaft seal type

Pipe connection Suction/Discharge

Intermediate casing

Casing cover

Material Liner ring

Motor bracket

EVM32-64

Outer casing

EVM3-32
EVM45-64
Bottom casting
EVM3-18
EVM32-64

Mechanical Seal

Applicable standard of test

Type
Phase

No.of Poles
Power rating

Insulation class
Protection
Frequency

Voltage

Over load protection

Casing material

Flange mount(IEC motor)

[KW]
[HP]

[Hz]

PUMP
EVMG EVM EVML
Clean water,water contains glycol and moderatelyaggressive fluids
-15C to+120 C
50ppm (Particle size 0.1-0.25mm or less)
500ppm
1.6/2.5/3.0
16/25/30
Enclosed centrifugal type
Mechanical seal
Sealed ball bearing with permanent grease

See dimension table

0Cr18Ni9 0Cr18Ni9 0Cr17Ni12Mo2
0Cr18Ni9 0Cr18Ni9 0Cr17Ni12Mo2
QT400 QT400+0Cr18Ni9 QT400+0Cr17Ni12Mo2
0Cr18Ni9 0Cr18Ni9 0Cr17Ni12Mo2
0Cr17Ni12Mo2 0Cr17Ni12Mo2 0Cr17Ni12Mo2
EPDM / 0Cr18Ni9 EPDM / 0Cr18Ni9 PTFE / 0Cr17Ni12Mo2
PTFE / 0Cr17Ni12Mo2 PTFE / 0Cr17Ni12Mo2 PTFE / 0Cr17Ni12Mo2
HT200 ZG07Cr20Ni10 0Cr17Ni12Mo2
HT200 HT200+0Cr18Ni9 HT200+0Cr17Ni12Mo2
HT200 HT200 HT200
SiC / Carbon/ FPM SiC / Carbon/ FPM SiC / Carbon/ FPM
EPDM EPDM FPM

GB/T3216-2005 -annex C

MOTOR
TEFC
Three phase
2
0.37~37
0.5~50
Class F (class B for temperature rise)
IP 55
50
380£10%(<4.0kw)
380/690+10%  Delta conn (25.5kw)
User to provide
Aluminium(<7.5kw) , Cast Iron (211kw)
IM B14(s4kw)
IM B5(25.5Kw)

03



EVM

H 300 , B EVM(.)3-5-10-18
[m] | 10237 |
——— Maximum Q=Capacity
200 s R |:~~ P“g/pMT(?')pe Motor wikng Umin0 20 40 60 75 100 130 150 200 250 300 350 400
: 227 0 ~~DNT KW HP Sige Peswe mh0 12 24 36 45 60 78 9 12 15 18 21 24
22 S Single phase  Three phase Mpa H=Total head (m)
22 ~— mb\ N gle p p (Mpa)
150 ANIPPS 3 2N5/0.37 M 32N5/0.37 037 0.5 71 16 186 16.7 140 103 6.6 - - - - - - - -
1823 \JQ{.U 3 3 3N5/0.37 M 33N5/0.37 0.37 0.5 71 1.6 127.97 125111 [20:98 [16:57 (1919 - - - - - - - -
T AN 763 3 4N5/0.55 M 34N5/0.55 055 075 71 16 372 334 279 206 132 - - - - - - - -
=1.5 N \‘n\ N 3 5N5/0.55 M 35N5/0.55 055 0.75 71 16 465 420 349 258 165 - - - - - - - -
100 13-15 \ 74*,10\ 3 6N5/0.75 M 36N5/0.75 0.75 1 80 16 56.0 50.0 420 309 19.8 - - - - - - - -
7~ Ve 3 7N5/0.75 M 3 7N5/0.75  0.75 1 80 16 650 585 49.0 36.1 231 - - - - - - - -
80 777\ \ \ \%;\ 39N5/1.1 M 3 9N5/1.1 1.1 1.5 80 16 840 750 63.0 465 297 - - - - - - - -
977 Z 311N5/1.1 M 3 11N5/1.1 11 1.5 80 16 1020 920 77.0 56.5 36.3 - - - - - - - -
60 \ (‘%} 313N5/1.5M 3 13N5/1.5 1.5 2 90S 1.6 121.0 109.0 90.5 67.0 43.0 - - - - - - - -
By X 315N5/1.5M 315N51.5 1.5 2 90S 1.6 140.0 125.0 1050 77.5 495 - - - - - - - -
50 — S N {é‘ 3 18F5/2.2 M 3 18F5/2.2 2.2 3 90L 25 167.0 151.0 126.0 925 59.5 - - - - - - - -
6-075 T~ < = \ \<f 322F5/22 M 3 22F5/2.2 2.2 3 90L 2.5 2050 184.0 154.0 113.0 725 - - - - - - - -
40 = 1E &5 - 3 26F5/3.0 3 4 100 25 2420 217.0 182.0 134.0 86.0 - - - - - - - -
"0.55 \ \\\ \\'\ 52N5/0.37 M 52N5/0.37 0.37 0.5 71 1.6 20.2 - 184 169 154 122 6.9 - - - - - -
B N P ! ) . . I . ] ! ] . .
30 4* -~ \ 7N 53N5/0.55M  53N5/0.55 055 0.75 71 16 30.2 - 276 253 231 184 103 - - - - - -
-0.55 ~1 \ N\ 54N5/0.75 M 54N5/0.75 0.75 1 80 1.6 405 - 36.8 33.8 308 245 13.8 - - - - - -
RN \\ ‘(\ot\ 55N5/1.1 M 5 5N5/1.1 1.1 =5 80 16 50.5 - 46.0 420 386 306 17.2 - - - - - -
W\ \\ T 56N5/1.1 M 5 6N5/1.1 1.1 1.5 80 1.6 60.5 - 55.0 50.5 46.5 36.7 20.6 - - - - - -
20 < ‘?\\OL 57N5/1.5M 57N5/1.5 1.5 2 90S 16 705 - 645 59.0 54.0 430 241 - - - - - -
\ o) 58N5/1.5M 5 8N5/1.5 1.5 2 90S 1.6 805 - 735 675 615 49.0 275 - - - - - -
~——_ \ \ 510N5/2.2 M 5 10N5/2.2 2.2 3 9L 1.6 1020 - 935 86.0 79.0 63.0 36.6 - - - - - -
15 2037 T~< N 511N5/2.2 M 511N5/2.2 2.2 3 90L 1.6 113.0 - 103.0 945 86.5 69.5 40.5 - - - - - -
> \ ‘\\ 512N5/2.2 M 5 12N5/2.2 2.2 3 9oL 1.6 123.0 - 112.0 103.0 945 755 440 - - - - - -
\0'5’) - 5 14N5/3.0 & 4 100 1.6 143.0 - 131.0 120.0 110.0 88.0 51.0 - - - - - -
10 - 5 16N5/3.0 3 4 100 16 1640 - 150.0 138.0 126.0 101.0 58.5 - - - - - -
S \ \ \ [ - 5 18F5/4.0 4 55 112 25 1840 - 168.0 155.0 142.0 113.0 66.0 - - - - - -
8 i \ \ \ EVM6t - 5 19F5/4.0 4 55 112 25 1940 - 178.0 163.0 150.0 120.0 69.5 - - - - - -
EVM3 EVM5 EVM10 EVM18 EVM32 - 5 22F5/4.0 4 55 112 25 2250 - 206.0 189.0 173.0 139.0 80.5 - - - - - -
EVM45 - 5 24F5/5.5 5.3 75 1328 25 246.0 - 2240 206.0 189.0 151.0 88.0 - - - - - -
6 10 2N5/0.75M 10 2N5/0.75 0.75 1 80 1.6 220 - - - 210 204 189 176 132 78 - - -
5 | ‘ 10 3N5/1.1 M 10 3N5/1.1 1.1 1.5 80 1.6 33.0 - - - 316 305 284 264 198 117 - - -
10 4N5/1.5M 10 4N5/1.5 1.5 2 90S 1.6 44.0 - - - 420 405 378 352 264 156 - - -
001 0:02 0:04 0'060,075 0. 0.13 02 0.25 0.3 0.4 0'60,70'8 1 1.4 . 2 10 5N5/2.2 M 10 5N5/2.2 2.2 3 90L 1.6 55.0 - - - 525 51.0 475 440 330 195 - - -
( the solid line is the standard products in the library) Q(m*/min) 106N5/22M  106N522 22 3 9L 16 660 - - - 630 61.0 57.0 53.0 395 234 - - -
- 10 8N5/3.0 &) 4 100 1.6 88.0 - - - 84.0 815 755 705 525 312 - - -
- 10 10N5/4.0 4 55 112 1.6 110.0 - - - 105.0 102.0 945 88.0 66.0 39.0 - - -
- 10 11N5/4.0 4 55 112 16 1210 - - - 116.0 112.0 104.0 97.0 725 43.0 - - -
PERFORMANCE CURVES - 10 12N5/5.5 5.5 75 1328 1.6 134.0 - - - 130.0 126.0 118.0 111.0 86.5 55.0 - - -
The specifications below qualify the curves shown on the following pages. - 1014N5/5.5 155 | 7.5 1328 1.6 157.00 - | - - 151.0 147.0 138.0 130.0 101.0 (645 ' - S
- 10 15F5/5.5 5.5 75 1328 25 168.0 - - - 162.0 158.0 148.0 139.0 108.0 69.0 - - -
¢ Tolerances according to GB/T3216-2005 annex C. - 1016F5/7.5 7.5 10 132S 25 1790 - - - 173.0 168.0 158.0 1480 1150 735 - - -
¢ The curves refer to effective speed of asynchronous motors at 50 Hz. - 1018F5/7.5 7.5 10 1328 25 2020 - = - 1940 189.0 177.0 167.0 1290 830 - - -
* Measurements were carried out with clean water at 20 C of temperature and with a kinematic viscosity of v =1mm2/s(1cSt). - 10 20F5/75 7.5 10 132S 25 2240 - - - 216.0 210.0 197.0 185.0 144.0 92.0 _ - -
® The NPSH curve is an average curve obtained in the same conditions of performance curves. = 10 22F5/11 11 15 160M 25 2460 - - - 2380 231.0 217.0 204.0 158.0 1010 - - -
* During the pump selection,consider to get a safety margin of at least 0.5m. 18 2F5/22M  182F522 2.2 3 90L 1.6 320 - - - - - 31.0 303 285 257 219 172 116
® The continuos curves indicate the recommended working range. The dotted curve is onlt a guide. - 18 3F5/3.0 3 4 100 1.6 48.0 - - - - - 46.0 455 43.0 386 328 257 174
¢ In order to avoid the risk of over-heating,the pumps should not be used at a flow rate below 10% of best efficiency point. - 18 4F5/4.0 4 55 112 1.6 64.0 - - - - - 615 605 57.0 515 440 343 232
- 18 5F5/5.5 515} 75 1328 1.6 80.0 - - - - - 77.0 755 715 645 545 43.0 290
- 18 6F5/5.5 55 75 1328 16 96.0 - - - - - 920 91.0 855 77.0 655 515 3438
- 18 7F5/7.5 {25, 10 1328 25 1120 - - - - - 108.0 106.0 100.0 90.0 76.5 60.0 40.5
- 18 8F5/7.5 7.5 10 1328 25 128.0 - - - - - 123.0 121.0 114.0 103.0 87.5 685 46.5
- 18 10F5/11 11 15 160M 2.5 162.0 - - - - - 157.0 155.0 147.0 134.0 116.0 93.5 69.0
- 18 12F5/11 1 15 160M 2.5 194.0 - - - - - 189.0 186.0 177.0 160.0 139.0 112.0 83.0
- 18 14F5/15 15 20 160M 2.5 227.0 - - - - - 220.0 217.0 206.0 187.0 162.0 131.0 96.5
- 18 15F5/15 15 20 160M 2.5 243.0 - - - - - 236.0 233.0 221.0 201.0 174.0 141.0 104.0
- 18 16F5/15 15 20 160M 2.5 259.0 - - - - - 252.0 249.0 236.0 214.0 186.0 150.0 110.0

04 05



EVM

B EVM(.)32-45-64

Mot Maximum Q=Capacity ©
Pump Type otor working min0 200 350 500 600 700 900 1000 1200 1400 -
EVM(.) : pressure  mgjh 0 12 21 30 36 42 54 60 72 84
kW HP  Size (Mpa) H=Total head (m) B
32 1-0F5/2.2 22 3 9oL 16 226 202 175 13.9 103 5.7 - - - -
32 2-2F5/3.0 3 4 100 1.6 39.0 346 297 212 14.2 = 2 2 2 = |
32 2-0F5/4.0 4 55 112 1.6 45.0 405 = 360 295 232 14.9 - - - - !
323-3F5/5.5 55 75 1328 1.6 55.0 520 450 328 227 - - - - -
32 3-0F5/5.5 55 75 1328 1.6 68.0 610 545 450 361 24.1 - - - - ‘
324-3F5/7.5 75 10 1328 1.6 81.0 725 635 485 356 - - - - -
32 4-0F5/7.5 75 10 1328 1.6 90.5 815 730 610 490 333 5 5 5 5 _ ]
32 5-3F5/11 11 15 160M 1.6 1040 930 820 640 485 305 - - - - L)
32 5-0F5/11 11 15 160M 1.6 1130 1020 915 765 620 425 5 5 5 5 [
32 6-3F5/11 11 15 160M 1.6 1260 1140 1000 795 615 39.7 - - - - - .
32 6-0F5/11 11 15 160M 1.6 1360 1230 1100 920 750 515 5 5 5 5 £l I
32 7-3F5/15 15 20 160M 1.6 1490 1340 1190 955 745 49.0 - - - -
32 7-0F5/15 15 20 160M 1.6 1580 1430 1280 1080  87.5 61.0 - - - - i
32 8-3F5/15 15 20 160M 25 1720 1550 1370 1110  87.0 58.0 - - - - '
32 8-0F5/15 15 20 160M 25 181.0 1640 1470 1230  101.0 70.0 - - - - L
32 9-3F5/18.5 18.5 25 160L 25 1940 1750 1560  127.0  100.0 67.5 E E E 5 A li =
32 9-0F5/18.5 185 25 160L 25 2030 1840 1650  139.0  114.0 795 - - - - L] -
32 10-3F5/18.5 18.5 25 160L 25 2170 1960 1740 1420  113.0 765 2 = = = \ /
32 10-1F5/18.5 18.5 25 160L 25 2230 2020 180.0  151.0  122.0 84.5 - - - -
32 11-3F5/22 22 30 180 25 2390 2160 1930 1580  126.0 855 = = = = . .
32 11-0F5/22 22 30 180 25 249.0 2250  202.0 170.0  139.0 97.5 - - - - X * t : ]
32 12-3F5/22 22 30 180 25 2620 2370 2110 1740  139.0 95.0 - - - - | G 3/8
32 12-1F5/22 22 30 180 3 268.0 2430 2170 1820 1480  103.0 5 5 5 . i
32 13-3F5/30 30 40 200 3 2850 2570 2290  189.0 1520  104.0 - - - - 4+ -+
32 13-0F5/30 30 40 200 3 2940 2660 2390 2020 1650  116.0 5 5 5 5
32 14-3F5/30 30 40 200 3 307.0 2780 2480 2050 1650  113.0 - - - - l T T I
32 14-0F5/30 30 40 200 3 3160 2870 257.0 2170 1780 1250 5 5 5 - | | |
45 1-1F5/3.0 3 4 100 1.6 21.0 - 18.9 17.6 16.3 14.3 8.3 - - - |
45 1-0F5/4.0 4 55 112 1.6 27.0 - 256 246 235 218 16.7 13.3 - -
45 2-2F5/5.5 55 75 1328 1.6 42.0 - 38.1 358 334 29.8 18.6 - - - oA
45 2-0F5/7.5 75 10 1328 1.6 54.0 - 515 500 480 450 354 29.1 - -
45 3-2F5/11 11 15 160M 1.6 69.0 E 64.0 610 580 530 373 E E 5 ' |
45 3-0F5/11 11 15 160M 1.6 81.0 - 775 750 725 68.0  54.0 45.0 - - N |
45 4-2F5/15 15 20 160M 25 96.0 = 90.0 86.0 820 760  56.0 43.0 = = ! VI8
45 4-0F5/15 15 20 160M 25 108.0 - 1030 1000 965 910 730 60.5 - -
45 5-2F5/18.5 18.5 25 160L 25 123.0 = 1160 1110  107.0 990 745 58.5 - - ’
45 5-0F5/18.5 18.5 25 160L 25 135.0 - 1290 1250 1210 1140 = 915 765 - - ! !
45 6-2F5/22 22 30 180 25 150.0 - 1420 1370 1310 1220 935 74.5 - - ! -
45 6-0F5/22 22 30 180 25 162.0 5 1550 1510 1460  137.0 1100 925 5 5 || L ‘ ’
45 7-2F5/30 30 40 200 25 177.0 - 1680 1620 1550 1450 1120 905 - - B = — G 3/8
45 7-0F5/30 30 40 200 25 189.0 5 1810 1760 1700  160.0 1290  108.0 5 5 ﬂ' B i M h | |
45 8-2F5/30 30 40 200 25 204.0 - 1940 1870 1800  168.0  131.0  106.0 - - <= ' ! < < f\@ R ==
45 8-0F5/30 30 40 200 25 216.0 = 2070 2010  194.0 1830 1480 1240 = > Lj_ Jﬂ N N7 v J faa)
45 9-2F5/30 30 40 200 25 231.0 - 2190 2120 2040 1910 1500  122.0 - - - } } il ¥ i
45 9-0F5/37 37 50 200 25 243.0 . 233.0 2260 2190 2060  166.0  140.0 - - P e L
45 10-2F5/37 37 50 200 3 258.0 ; 2450  237.0 2290 2140 1680 1380 ; ; T | i) i | sl
45 10-0F5/37 37 50 200 3 270.0 5 2590  251.0 2430 2290 1850  156.0 5 5 ’ BM ‘ 4-BF | | | D1
64 1-1F5/4.0 4 55 100 1.6 237 E g 210 204 19.7 17.5 15.9 114 5 L
64 1-0F5/5.5 55 75 1328 1.6 293 - - 266 | 261 254 237 223 18.5 135 BL BY1
64 2-2F5/7.5 75 10 1328 1.6 475 = = 25 415 405 365 335 253 = F BW
64 2-1F5/11 11 15 160M 1.6 53.0 - - 480 470 460 425 400 324 23.0 , |
64 2-0F5/11 11 15 160M 1.6 58.5 = = 535 530 520  49.0 465 395 30.6 E
64 3-3F5/15 15 20 160M 1.6 71.0 - - 640 625 610 555 510 393 - !
64 3-2F5/15 15 20 160M 1.6 765 - - 695  68.0 665 615 575 465 325
64 3-1F5/15 15 20 160M 1.6 825 5 3 750 740 725 680 640 535 400 = -
64 3-0F5/18.5 18.5 25 160L 1.6 88.0 - - 805 795 780 740 705 605 475 -
64 4-3F5/18.5 18.5 25 160L 1.6 100.0 5 5 910  89.0 870 805 755 605 420 ] : H G 3/8
64 4-2F5/18.5 18.5 25 160L 1.6 106.0 - - 965 950 930  87.0 815 675 495 B | | N
64 4-1F5/22 22 30 180 1.6 112.0 5 5 1020 101.0 985 930 880 745 57.0 <= -Hi—- @ -1 <= ﬁj a8
64 4-0F5/22 22 30 180 1.6 117.0 - - 1080 1060 1040  99.0 945 815 64.5 R | -
64 5-3F5/30 30 40 200 1.6 130.0 . = 1180 1160 1140 1060 995 815 59.0 == T m | fva}
64 5-2F5/30 30 40 200 1.6 135.0 - - 1240 1220 1190 1120 1060 885 66.5 N £
64 5-1F5/30 30 40 200 16 141.0 : . 1200 1270 1250 1180 1120 = 955 74.0 (= ! | o
64 5-0F5/30 30 40 200 1.6 147.0 E s 1350 1330 1310 1240 1190 1030 815 | BM | | | H8 I
64 6-3F5/30 30 40 200 1.6 159.0 - - 1450 1430 1400 1310 1240 1030  76.0 . . . 4-BF | | |
64 6-2F5/30 30 40 200 25 165.0 = = 151.0 1480 1460 1370 1300 1100 835 BL T
64 6-1F5/37 37 50 200 25 170.0 - - 1560 1540  151.0 1430 1360 1170  91.0 E
64 6-0F5/37 37 50 200 25 176.0 = = 162.0 1600  157.0 1490 1430 1240 990
64 7-3F5/37 37 50 200 25 188.0 - - 1720  169.0  166.0  156.0 1480 1240  93.0 .
64 7-2F5/37 37 50 200 25 194.0 - - 1780 1750  172.0 1620 1540 1310  101.0
64 7-1F5/37 37 50 200 25 200.0 5 3 1830 1810 1780 1680 1610 1380  108.0

06 07



EVM

m EVM(.)3-5-10-18 B EVM(.)32-45-64
Dimensions [mm Weightlk Dimensions [mm] Weight[ks

Pump Type  Prat. Melor o) BY) ) — i Eampiive=i e St H3 1) B1) C1) i
EVM(.) [MPaj2  Size H2 I 5 F E o 5 BM BL BYT BW SA SG DI D2 H8 SN D3 BF BH A Pump Motor P+ EVM(.) [MPal2 Size H H2 H3 3~ B E 3~ 3~ BM BL BYT BW SA SG D1 D2 H8 SN D3 BF BH A Pump Motor P#M
RN [N N NN N ) R ) I SABIESOM 10 100 105 503 @5 @5 - B0 210 163 170 210 240 280 P65 U0 GM5 B 23 4 BB 14 3B 160 5 28 b
I G el W0 R26E0k el W2 i KT50) 12061 1224 REo0) K200 WS K008 98 (50 e 0] RCI I ToN I W W2 (V10 (2112 B2 08 (21100 28 Wi §28 3220F5/40 1.6 112 105 503 325 325 - 320 210 163 170 210 240 280 @65 @110 @145 @185 23 4 @18 @14 35 160 58 30 88
34N5/0.55 1.6 71 50 2825 215 227 160 206 142 150 129 141 100 149 180 210 G1" - 76 - - 2 M10 @12 20 @105 12 12 24 323-3F5/55 1.6 1325 105 572 360 360 - 320 243 240 170 210 240 280 @65 @110 @145 @185 23 4 @18 @14 35 300 74 47 121
35N5/0.55 1.6 71 50 3035 215 227 160 206 142 150 129 141 100 149 180 210 G1" - 75 - - 2 M10@12 20 @105 13 12 25 323-0F5/55 1.6 1328 105 572 360 360 - 320 243 240 170 210 240 280 @65 @110 @145 @185 23 4 @18 @14 35 300 74 47 12
EIERIETVEN IEFEN NEFN N5 P NP PG G ) 5 i N N NP (T 50, I SI4SFSTS 16 1395 105 G20 380 0 - 30 23 240 170 210 20 20 965 0 GMS D18 78 4 DB 14 %5 %0 7T 5N 12
I IECH SO §50) §E5515]) IS5 I2Col WG 206 80N W70} MH0A K524 k00K K0} LE0N E2010) KGR I IO ISR IS W2 (M0 (12 R20N (7120 NI INISH B2 3253F5/11 1.6 160M 105 799 493 493 - 320 303 258 170 210 240 280 @65 @110 @145 @185 23 4 @18 @14 35 350 96 90 186
39N5/1.1 16 80 50 397.5 232 251 160 206 160 170 150 152 100 149 180 210 G1" - 75 - - 2 MI0@12 20 @120 15 15 29 325-0F5/11 1.6 160M 105 799 493 493 - 320 303 258 170 210 240 280 @65 @110 @145 @185 23 4 @18 @14 35 350 96 90 186
311N5/1.1 16 80 50 4395 232 251 160 206 160 170 150 152 100 149 180 210 G1" - 75 - > 2 M10 @12 20 @120 16 15 31 32 6-3F5/11 1.6 160M 105 847 493 493 - 320 303 258 170 210 240 280 @65 @110 @145 @185 23 4 @18 @14 35 350 99 90 189
T =1 326-0F5/11 1.6 160M 105 847 493 493 - 320 303 258 170 210 240 280 @65 @110 @145 185 23 4 @18 @14 35 350 99 90 189
SSNS/A SR IR08 R90SR {50) k49125] 12 /EH 272 NG0R 206 1723 kO] 0] 521 0] 9] .80] 210 G1" S 28 (M110)(212]§208 2140, i O I O] §37) 327-3F5/15 1.6 160M 105 895 493 493 - 320 303 258 170 210 240 280 @65 @110 @145 @185 23 4 @18 @14 35 350 102 102 204
S15N5/1.5° 1.6 90S S50 5335 278 272 160 206 172 194 140 152 100 149 180 210 G1" - 75 - - 2 M10@12 20 o140 19 19 38 327-0F5/15 1.6 160M 105 895 493 493 - 320 303 258 170 210 240 280 @65 @110 @145 @185 23 4 @18 @14 35 350 102 102 204
318F522 25 Q0L 75 6315 278 272 - 250 172 194 140 152 100 149 180 210 @25 @66 @85 G115 16 4 @14 @12 20 @140 25 21 46 328-3F5/15 2.5 160M 105 943 493 493 - 320 303 258 170 210 240 280 @65 @110 G145 G185 23 8 @18 @14 35 350 105 102 207
322F5/22 25 90L 75 7165 278 272 - 250 172 194 140 152 100 149 180 210 @25 @66 @85 @115 16 4 @14 @12 20 @140 27 21 48 328-0F5/15 2.5 160M 105 943 493 493 = - 320 303 258 170 210 240 280 @65 @110 @145 @185 23 = 8 @18 @14 35 350 105 102 207
329-3F5/185 25 160L 105 991 493 493 - 320 303 258 170 210 240 280 @65 @110 G145 @185 23 8 @18 @14 35 350 108 112 220
91266:5/3 OB 925 1 Q0N jo751) 5 05 - 1525 [20) Bl |24 Of =i |1 651 T 00] (3491 {160) [240 Qfs 2661 {280) P15 (6N et [T (912 20R 160, (1) 260 59 3209-0F5/18.5 25 160L 105 991 493 493 - 320 303 258 170 210 240 280 @65 @110 @145 @185 23 8 @18 @14 35 350 108 112 220
52N5/037 1.6 71 50 2545 215 227 160 206 142 150 129 141 100 149 180 210 G™4 - 75 - - 2 M10@12 20 @105 12 11 23 3210-3F5/185 2.5 160L 105 1039 493 493 - 320 303 258 170 210 240 280 @65 @110 @145 @185 23 8 @18 @14 35 350 112 112 224
53N5/0.55 1.6 71 50 2825 215 227 160 206 142 150 129 141 100 149 180 210 G4 - 75 - - 2 MI10 @12 20 @105 12 12 24 3210-1F5/185 2.5 160L 105 1039 493 493 - 320 303 258 170 210 240 280 @65 @110 @145 @185 23 8 @18 @14 35 350 112 112 224
S I N S IR e N S N S G A S I ) A i ) I I 32110FS2 25 10 105 1087 S0 S0 - 320 35 273 110 210 0 20 OG5 G0 G4 BB 23 8 g1 o1 % % 116 170 296
kb1 W16 IS0 o0) 567} iyec2 2o/ 160) 1206 0] Kii70] io0j e (1e0) 1290 W50 [210] (EIik N IroN I I ol (MIT0 (2772 5208 (2120 RE3 ITo) 125 3212-3F5/22 2.5 180 105 1135 560 560 - 320 355 275 170 210 240 280 65 @110 9145 @185 23 8 @18 O14 35 350 119 170 289
56N5/1.1 16 80 50 3765 232 251 160 206 160 170 150 152 100 149 180 210 G4 - 75 - - 2 M10@12 20 @120 14 15 29 3212-1F5/22 3.0 180 105 1135 560 560 - 320 355 275 170 210 240 280 @65 @110 @145 @185 23 8 @18 @14 35 350 119 170 289
57N5/1.5 1.6 90S 50 4145 278 272 160 206 172 194 140 152 100 149 180 210 G4 - 75 - - 2 MI10@12 20 @440 15 19 34 3213-3F5/30 3.0 200 105 1198 660 660 - 320 395 325 170 210 240 280 @65 @110 @145 @185 23 8 @18 @14 35 400 129 235 364
__ eleslwlre]es ez [elmsieleveltelm [rafrlenlarl= Tel - T T2 mdeel o frdmm ] SIMESRBON 30 200 105 1246 G0 GAD - 320 % 325 {10 210 240 260 G5 B0 P4 BB 23 6 @18 Ol 3 400 133 25 368
SRIONS/2:23 [EON S0 SO0 5050} 2703 272 R0} 2061 724 KIS 12 0} K52 k100N W 9N WS OX I21104 C1HE ISl 70N I IS W23 110 (12 5203 (130 JISH N2l RS9 3214-0F5/30 3.0 200 105 1246 660 660 - 320 395 325 170 210 240 280 @65 @110 @145 @185 23 8 @18 @14 35 400 133 235 368
511N522 16 90L 50 5365 278 272 160 206 172 194 140 152 100 149 180 210 GIM4 - 75 - - 2 M10@12 20 @140 19 21 40 451-1F5/3.0 1.6 100 140 525 325 325 - 365 210 163 190 251 266 331 @80 @120 @160 @200 20 8 @18 @14 45 160 71 28 99
512N5/22 16 90L 50 5645 278 272 160 206 172 194 140 152 100 149 180 210 G4 - 75 - - 2 M10 @12 20 @140 20 21 41 451-0F5/4.0 1.6 112 140 525 325 325 - 365 210 163 190 251 266 331 @80 @120 @160 @200 20 8 @18 @14 45 160 73 30 103
B ) ) =T —— 452-2F5/55 1.6 1325 140 618 35953505 - 365 243 240 190 251 266 331 @80 @120 @160 @200 20 8 @18 @14 45 300 81 47 128
GMCNCENR 16 100 50 6305 EEEN MET] £ 210 1631 100} |£49] 1180 |210] ST s 23 (Mi1G (21 21208 5150 [221 R251 RS0 452-0F5/7.5 1.6 1328 140 618 35953595 - 365 243 240 190 251 266 331 @80 @120 @160 @200 20 8 @18 @14 45 300 81 51 132
516N53.0 1.6 100 50 687.5 - 325 160 206 - 210 - 163 100 149 180 210 G*M4 - 75 - - 2 M10 012 20 @160 23 28 51 4532F5/11 | 1.6 160M 140 821 493 493 - 365 303 258 190 251 266 331 @80 @120 @160 @200 20 8 @18 @14 45 350 99 90 189
518F5/4.0 25 112 75 7685 - 325 - 250 - 210 - 163 100 149 180 210 @32 @76 G100 G140 20 4 @14 @12 20 @160 29 30 59 453-0F5/11 1.6 160M 140 821 493 493 - 365 303 258 190 251 266 331 @80 @120 @160 @200 20 8 @18 @14 45 350 99 90 189
519F5/4.0 25 112 75 7965 - 325 - 250 - 210 - 163 100 149 180 210 @32 @76 @100 @140 20 4 @14 @12 20 @160 29 30 59 454-2F5/15 2.5 160M 140 893 493 493 - 365 303 258 190 251 266 331 @80 @120 @160 @200 20 8 @18 @14 45 350 108 102 210
454-0F5115 25 160M 140 893 493 493 - 365 303 258 190 251 266 331 @80 @120 @160 @200 20 8 @18 @14 45 350 108 102 210
RN 82 > 11128 700 NS50°5) I 52518 N £250) S (21104 e 1651 00} 11291 (150) (2410 (7332112776 (100 210 208 Ml (2713 (212 2 OB 160 K510 MO G 4550F5/18.5 25 160L 140 965 493 493 - 365 303 258 190 251 266 331 @80 @120 @160 @200 20 8 @18 @14 45 350 128 112 240
524F5/5.5 25 1328 75 9475 - 3595 - 250 - 243 - 240 100 149 180 210 @32 @76 @100 0140 20 4 @14 @12 20 @300 35 47 82 455-0F5/18.5 2.5 160L 140 965 493 493 - 365 303 258 190 251 266 331 @80 @120 @160 @200 20 8 @18 @14 45 350 128 112 240
102N5/0.75 1.6 80 80 3325 232 236 200 252 160 170 150 152 130 190 215 250 GM2 - 100 - - 2 M12@12 20 @120 18 13 31 456-2F5/22 | 25 180 140 1037 560 560 - 365 355 275 190 251 266 331 @80 @120 G160 @200 20 8 @18 14 45 350 133 170 303
MR N ) D N Y ) I BSEZRGEINN 25 200 140 1120 660 66D - 365 39 325 190 251 260 331 B D120 D160 G200 20 6 @18 O14 45 400 139 2% 4
SRS I COR (205K 50 [102:5) 275N 2728 [200] [252] 724 1223 (1200 K524 S0 (908 50 2508 G112 I 00} I I 2 [M12 (/12| §200 (/10 k220 IO I 457-0F530 2.5 200 140 1124 660 660 - 365 395 325 190 251 266 331 @80 @120 3160 @200 20 8 @18 ©14 45 400 139 235 374
105N5/2.2 1.6 90L 80 4425 278 272 200 252 172 194 140 152 130 190 215 250 GiM2 - 100 - - 2 M12@12 20 @140 23 21 44 458-2F5/30 2.5 200 140 1196 660 660 - 365 395 325 190 251 266 331 @80 @120 @160 @200 20 8 @18 @14 45 400 146 235 381
106N5/22 1.6 Q0L 80 4725 278 272 200 252 172 194 140 152 130 190 215 250 GM2 - 100 - - 2 M12 @12 20 @140 24 21 45 458-0F5/30 2.5 200 140 1196 660 660 - 365 395 325 190 251 266 331 @80 @120 @160 @200 20 8 @18 @14 45 400 146 235 381
S O I NN I NP 0 N 55 ) 55N N [T ) 4SGoFnT 1252001140 1200 16601 66D | - 305 %06 1308 1100 261266 1931 0BD D0 9160 9200 20 | § 9B G141 45 14001 181 264 408
SRR 1: OB (11123 HSON 602:5) SN IS 25M [200) 12521 Il (2110 N 1631 [1S08 {1908 2151 [250] G2 I 100) IR I 2 (MI12 (012 §208) 21160/ [ 2 [R50l 62 4510-2F5/37 3.0 200 140 1341 660 660 - 365 395 325 190 251 266 331 ©80 @120 G160 200 20 & ©18 G4 45 400 156 254 410
1011N5/4.0 1.6 112 80 6325 - 325 200 252 - 210 - 163 130 190 215 250 GM2 - 100 - - 2 M12@12 20 @160 34 30 64 4510-0F5/37 3.0 200 140 1341 660 660 - 365 395 325 190 251 266 331 @80 @120 @160 @200 20 8 @18 O14 45 400 156 254 410
1012N5/55 1.6 132S 80 6735 - 3595 200 252 - 243 - 240 130 190 215 250 GM2 - 100 - - 2 M12 @12 20 @300 39 47 86 641-1F5/4.0 1.6 100 140 525 325 325 - 365 210 163 190 251 266 331 @100 @140 @180 @220 20 8 @18 @14 45 160 70 30 100
64 1-0F5/55 1.6 132 140 546 35953595 - 365 243 240 190 251 266 331 @100 @140 @180 @220 20 8 @18 @14 45 300 77 47 124

1014N5/55 1.6 132S 80 7335 - 3595 200 252 - 243 - 240 130 190 215 250 GMM2 - 100 - - 2 M12 @12 20 @300 42 47 89
o 642-2F5/7.5 1.6 132 140 618 359535905 - 365 243 240 190 251 266 331 @100 @140 @180 @220 20 8 @18 @14 45 300 81 51 132
1015F5/5.5| 2.5 1328 80 7635 - 3595 - 280 - 243 - 240 130 190 215 250 @40 088 G110 G150 20 4 ©18 12 20 Q300 46 47 93 642-1F5/11 1.6 160M 140 749 493 493 - 365 303 258 190 251 266 331 @100 @140 G180 @220 20 8 @18 @14 45 350 94 90 184
10 16F5/7.5 2.5 132S 80 7935 - 3595 - 280 - 243 - 240 130 190 215 250 @40 @88 @110 @150 20 4 18 @12 20 @300 48 51 99 642-0F511 1.6 160M 140 749 493 493 - 365 303 258 190 251 266 331 @100 @140 @180 @220 20 8 @18 @14 45 350 94 90 184
10 18F5/7.5 2.5 132S 80 8535 - 3595 - 280 - 243 - 240 130 190 215 250 Q40 @88 @110 @150 20 4 @18 @12 20 @300 50 51 101 64 3-3F5/15 1.6 160M 140 821 493 493 - 365 303 258 190 251 266 331 @100 @140 @180 @220 20 8 @18 @14 45 350 99 102 201
643-2F5/15 1.6 160M 140 821 493 493 - 365 303 258 190 251 266 331 @100 @140 @180 @220 20 & @18 @14 45 350 99 102 201
1012065/7:51 §2:58 13251 SO 191251 IS 1350:5) Il 2501 B (26151 B2 01 (1 S04 1901 2i1 5] [250] 2210 {086 610 | 208 [ |01 |12 § 203 1500) ESOR) S 101 643-1F5/15 1.6 160M 140 821 493 493 - 365 303 258 190 251 266 331 @100 @140 @180 @220 20 8 @18 @14 45 350 99 102 201
1022F5/11 25 160M 80 10045 - 493 - 280 - 303 - 258 130 190 215 250 @40 @88 0110 @150 20 4 @18 @12 20 @350 56 90 146 64 3-0F5/185 | 1.6 160L 140 821 493 493 - 365 303 258 190 251 266 331 @100 @140 @180 @220 20 8 @18 @14 45 350 99 112 211
182F52.2 16 Q0L 90 3725 278 272 - 300 172 194 140 152 130 190 215 250 @50 @102 @125 @165 20 4 @18 @12 20 @140 27 21 48 644-3F5/18.5 1.6 160L 140 893 493 493 - 365 303 258 190 251 266 331 @100 @140 @180 @220 20 8 @18 @14 45 350 108 112 220
B S R S N N R I ) A G S M G K CGairez> 16 1 140 50 50 560 . 35 5 25 10 251 265 33 D100 U140 10 020 20 & O18 14 45 30 116 170 298
(LSR5 25 OB ISEOR 124 S0 0N [ER72:00) Il 52O IRl K500 R (2(10]) I 163] (1303 [190) 215|250} [@50] {2102 0125 [2165) 208 [t |91 8 (/121 12 O3 27160 S (1 S ON 6 6440F5/22 1.6 180 140 893 560 560 - 365 355 275 190 251 266 331 @100 @140 @180 @220 20 8 ©18 @14 45 350 116 170 286
185F5/6.5 1.6 1328 90 5235 - 3595 - 300 - 243 - 240 130 190 215 250 @50 @102 @125 @165 20 4 @18 @12 20 @300 38 47 85 645-3F5/30 1.6 200 140 980 660 660 - 365 395 325 190 251 266 331 @100 @140 @180 @220 20 8 @18 @14 45 400 128 235 363
18 6F5/5.5 1.6 1328 90 5635 - 3595 - 300 - 243 - 240 130 190 215 250 @50 @102 @125 @165 20 4 @18 @12 20 @300 41 47 88 645-2F5/30 1.6 200 140 980 660 660 - 365 395 325 190 251 266 331 @100 @140 G180 @220 20 8 @18 @14 45 400 128 235 363
B 21 (251 el 1 I s A ol I (21 N 0 {00 2t 2l e[ s s o (2 2 ol o0 Kl s BESUREEON 1.5 200 140 90 660 G50 - 365 305 35 10 251 26 330 D100 P4 G180 G220 20 O B18 DY 45 400 128 235 %63
18I8F5/7:511[12:51] {1325 1901 [643:5] [T 171 [1359.51 [T [800) [F7) (2481 |11 [240 {1801 [1901 21512501 |£50] |102, (6125|4165, [1201] [F 47|18 |01 2] [207] 2300] {447 [E511| (195 646-3F5/30 1.6 200 140 1052 660 660 - 365 395 325 190 251 266 331 @100 @140 @180 ©220 20 8 @18 @14 45 400 136 235 371
18 10F5/11 2.5 160M 90 7535 - 493 - 300 - 303 - 258 130 190 215 250 @50 @102 @125 @165 20 4 @18 @12 20 @350 54 90 144 64 6-2F5/30 2.5 200 140 1052 660 660 - 365 395 325 190 251 266 331 @100 @140 @190 @235 26 8 @22 @14 45 400 136 235 371
1812F5M11 25 160M 90 8335 - 493 - 300 - 303 - 258 130 190 215 250 @50 @102 @125 @165 20 4 @18 @12 20 @350 57 90 147 646-1F5/37 25 200 140 1052 660 660 - 365 395 325 190 251 266 331 @100 @140 @190 @235 26 8 @22 @14 45 400 136 254 390
646-0F5/37 25 200 140 1052 660 660 - 365 395 325 190 251 266 331 @100 @140 @190 @235 26 8 @22 @14 45 400 136 254 390

18 14F5/15 25 160M 90 9135 - 493 - 300 - 303 - 258 130 190 215 250 @50 @102 @125 3165 20 4 @18 @12 20 @350 58 102 160
2 647-3F5/37 25 200 140 1124 660 660 - 365 395 325 190 251 266 331 @100 @140 @190 @235 26 8 @22 @14 45 400 139 254 393
18 15F5/15 2.5 160M 90 9545 - 493 - 300 - 303 - 258 130 190 215 250 @50 @102 @125 @165 20 4 @18 @12 20 @350 58 102 160 64 7-2F5/37 2.5 200 140 1124 660 660 - 365 395 325 190 251 266 331 @100 @140 G190 @235 26 8 @22 @14 45 400 139 254 393
18 16F5/15 25 160M 90 9945 - 493 - 300 - 303 - 258 130 190 215 250 @50 @102 @125 3165 20 4 @18 @12 20 @350 61 102 163 647-1F5/37 25 200 140 1124 660 660 - 365 395 325 190 251 266 331 @100 @140 @190 @235 26 8 @22 @14 45 400 139 254 393

08 09



EVM

B EVM(.)3-5-10-18 B EVM(.)32-45
Motor Standard motors technical data Motor Standard motors technical data
Pump Type Full load efficency and Full_;ﬁ?:ecurr];esr: Al Locke.lt_;ihrrztgr rr:]:;r:nt Al Pump Type Full load efficency and FuII_I!ﬁ?edecu;;esr: 1Al LOCke.Ic.’hrth:r E:g:m Al
EVM(.) Size ball bearing power-factor Three phase B P EVM() Sive ball bearing power-factor Three phase p p!
Pump side Fan side n% cos-® 220V 380V 690V 220V 380V 690V Pump side Fan side n% cos-® 220V 380V 690V 220V 380V 690V
3 2N5/0.37 71 6202-7Z 6202-27 65.3 0.70 1.9 1.1 - 9.0 5.2 - 32 1-0F5/2.2 90L 6205-2Z 6205-27 81.8 0.81 8.5 49 = 60.3 34.8 -
33N5/0.37 4l 6202-2z 6202-2z 653 0.70 1.9 1.1 - 9.0 5.2 - 32 2-2F5/3.0 100 6206-2Z 6206-2Z 82.6 0.85 113 6.5 2 81.4 47.0 2
ANS5/0. 71 202-22 202-2Z 70. 7 2. il = 13. 7.7 5
SEINS/0.55 620 620 8 050 B 6 53 32 2-0F5/4.0 112 6206-2Z 6206-2Z 85.0 0.84 14.7 8.5 - 1195 69.0 -
3 5N5/0.55 71 6202-2Z 6202-2Z 70.8 0.70 2.8 16 = 13.3 7.7 5
ST . T T 7l 07 2% 08 - 155 55 - 32 3-3F5/5.5 1328 6208-2Z 6208-2Z 85.7 0.86 - 10.8 6.2 = 71.3 412
3 7N5/0.75 80 6204-2Z 6204-2Z 74.5 0.78 3.3 1.9 = 16.5 95 - 32 3-0F5/5.5 1328 6208-2Z 6208-2Z 85.7 0.86 - 10.8 6.2 - 713 41.2
3 9N5/1.1 80 6204-2Z 6204-22 77.6 0.82 43 25 = 19.9 15 - 32 4-3F5/7.5 1328 6208-2Z 6208-2Z 87.0 0.89 - 14.1 8.1 = 1015 58.6
2 VINHL &y vy | GAv 79 o2 23 23 - e il - 3240F575 1328 620877 620827 87.0 0.89 - 14.1 8.1 - 101.5 58.6
3 13N5/1.5 90 6205-2Z 6205-2Z 78.6 0.82 5.9 3.4 = 29.4 17.0 - 32 535511 160M 620927 620927 887 0.84 i 215 — i 1440 83,1
3 15N5/1.5 90 6205-2Z 6205-22 78.6 0.82 5.9 3.4 = 29.4 17.0 -
3 18F5/2.2 90 6205-2Z 6205-2Z 81.8 0.81 85 4.9 - 60.3 348 - S5/ S0 209222 620922 8577 o5 . 213 125 . L0 Kk
3 22F5/2.2 90 6205-2Z 6205-27Z 81.8 0.81 8.5 4.9 - 60.3 34.8 - 32 6-3F5/11 160M 6209-2Z 6209-2Z 88.7 0.84 = 21.5 124 = 144.0 83.1
3 26F5/3.0 100 6206-2Z 6206-2Z 82.6 0.85 1.3 6.5 - 81.4 47.0 - 32 6-0F5/11 160M 6209-2Z 6209-22 88.7 0.84 - 215 124 - 144.0 83.1
52N5/0.37 7 6202-22 6202-22 65.3 0.70 1.9 1.1 - 9.0 5.2 - 32 7-3F5/15 160M 6209-2Z 6209-2Z 89.7 0.85 - 285 16.5 = 205.2 118.5
D ENEH il 5202, 772 002,27 [0 00 28 IEC : i v : 327-0F5/15  160M 620077 620922 89.7 0.85 . 285 165 . 205.2 1185
54N5/0.75 80 6204-2Z 6204-2Z 745 0.78 3.3 19 = 16.5 9.5 5 > 8361 v 620077 620077 507 085 285 165 2052 1185
55N5/1.1 80 6204-2Z 6204-27 776 0.82 43 25 - 19.9 11.5 - BRI i : : ’ . : : . : ‘
5 6N5/1.1 80 6204-27 620427 776 082 43 25 ) 19.9 15 ) 32 8-0F5/15 160M 6209-2Z 6209-2Z 89.7 0.85 s 28.5 16.5 5 205.2 118.5
57N5/1.5 90 6205-2Z 6205-2Z 78.6 0.82 5.9 3.4 = 29.4 17.0 - 32 9-3F5/18.5 160L 6209-2Z 6209-2Z 90.4 0.86 . 345 19.8 5 262.2 151.4
58N5/1.5 90 6205-Z7 6205-2Z 78.6 0.82 5.9 34 S 294 17.0 o 32 9-0F5/18.5 160L 6209-2Z 6209-2Z 90.4 0.86 = 345 19.8 = 262.2 151.4
S ez 2 <l BEUnA A G i 85 £ . G0 it g 3210-3F5/185  160L 6209-22 6209-22 90.4 0.86 . 34.5 19.8 . 262.2 151.4
S 1IN5/22 %0 620522 6205-22 818 081 85 49 . 603 348 . 3210-1F5/185  160L 6209-22 6209-22 90.4 0.86 345 19.8 262.2 151.4
5 12N5/2.2 90 6205-2Z 6205-2Z 81.8 0.81 85 49 = 60.3 34.8 = - : 2 : : : . : : . : :
5 14N5/3.0 100 620622 620622 826 0la5 1.3 515 B 81.4 47.0 ) 32 11-3F5/22 180 6210-2Z 6209-2Z 90.8 0.86 = 41.0 23.7 s 303.4 175.2
5 16N5/3.0 100 6206-2Z 6206-2Z 82.6 0.85 13 6.5 . 81.4 47.0 - 32 11-0F5/22 180 6210-2Z 6209-2Z 90.8 0.86 - 41.0 23.7 = 303.4 175.2
5 18F5/4.0 112 6206-2Z 6206-2Z 85.0 0.84 14.7 8.5 = 119.5 69.0 = 32 12-3F5/22 180 6210-2Z 6209-2Z 90.8 0.86 - 41.0 23.7 - 303.4 175.2
5 19F5/4.0 112 6206-22 6206-2Z 85.0 0.84 14.7 8.5 - 118.5 69.0 - 32 12-1F5/22 180 6210-2Z 6209-2Z 90.8 0.86 - 41.0 23.7 - 303.4 175.2
5 22F5/4.0 12 6206-2Z 6206-2Z 85.0 0.84 14.7 8.5 = 1195 69.0 5
32 13-3F5/30 200 6210-2Z 6210-2Z 91.6 0.85 = 56.0 32.3 = 436.8 252.2
5 24F5/5.5 132 6208-2Z 6208-2Z 85.7 0.86 - 10.8 6.2 - 71.3 412
AR e oh o e — o 55 1 _ e o ) 32 13-0F5/30 200 6210-2Z 6210-22 91.6 0.85 - 56.0 32.3 - 436.8 2522
10 3N5/1.1 80 6204-2Z 6204-27 776 0.82 43 25 - 19.9 115 - 32 14-3F5/30 200 6210-2Z 6210-2Z 91.6 0.85 - 56.0 323 - 436.8 252.2
10 4N5/1.5 90 6205-2Z 6205-22 78.6 0.82 5.9 3.4 - 29.4 17.0 - 32 14-0F5/30 200 6210-2Z 6210-2Z 91.6 0.85 - 56.0 32.3 S 436.8 2522
10 5N5/2.2 90 6205-2Z 6205-2Z 81.8 0.81 8.5 49 = 60.3 34.8 - 45 1-1F5/3.0 100 6206-22 6206-22 826 0.85 13 65 ) 81.4 470 )
— 20 G20522 E20022 als il i3 i . o3 o . 45 1-0F5/4.0 112 6206-2Z 6206-2Z 85.0 084 14.7 85 - 119.5 69.0 -
10 8N5/3.0 100 6206-2Z 6206-2Z 82.6 0.85 14.7 6.5 = 81.4 47.0 5
B NG v oo B =0 oY e e ) TR =0 ) 45 2-2F5/5.5 1328 6208-2Z 6208-2Z 85.7 0.86 - 10.8 6.2 = 71.3 412
10 11N5/4.0 112 6206-2Z 6206-2Z 85.0 0.84 - 85 - 119.5 69.0 - 45 2-0F5/7.5 1328 6208-22 6208-2Z 87.0 0.89 - 14.1 8.1 - 101.5 58.6
10 12N5/5.5 132 6208-2Z 6208-2Z 85.7 0.86 - 10.8 6.2 - 71.3 41.2 45 3-2F5/11 160M 6209-2Z 6209-2Z 88.7 0.84 = 215 12.4 - 144.0 83.1
10 14NS5/5.5 132 6208-22 6208-22 85.7 0.86 - 10.8 6.2 - 3 41.2 45 3-0F5/11 160M 6209-72 6209-22 88.7 0.84 - 215 124 - 144.0 83.1
10 15F5/5.5 132 6208-2Z 6208-2Z 85.7 0.86 = 10.8 6.2 = 71.3 41.2 e e p——— p—— — o i TE — i o Py
10 16F5/7.5 132 6208-2Z 6208-2Z 87.0 0.89 - 14.1 8.1 - 1015 58.6
10 18F5/7.5 132 6208-2Z 6208-22 87.0 0.89 - 14.1 8.1 - 101.5 58.6 45 4-0F5/15 160M 620922 6209-22 89.7 085 = 285 165 = 2052 1183
10 20F5/7.5 132 6208-2Z 6208-2Z 87.0 0.89 - 14.1 8.1 - 1015 58.6 (oDhollen] 1601 620822 6209:22 90.4 0.86 - 34:5 19:8 - 262:2 1514
10 22F5/11 160 6209-2Z 6209-22 88.7 0.84 - 21.5 124 - 144.0 83.1 45 5-0F5/18.5 160L 6209-2Z 6209-22 90.4 0.86 - 345 19.8 - 262.2 151.4
18 2F5/2.2 90L 6205-2 6205-2z 81.8 0.81 8.5 4.9 - 60.3 34.8 - 45 6-2F5/22 180 6210-2Z 6209-2Z 90.8 0.86 - 41.0 23.7 - 303.4 175.2
18 3F5/3.0 100 D200.27 MG 20627 5210 WEs 119 Gie - St 720 - 45 6-0F5/22 180 62102z 620927 90.8 0.86 . 41.0 23.7 . 303.4 175.2
18 4F5/4.0 12 6206-2Z 6206-2Z 85.0 0.84 147 8.5 = 119.5 69.0 5 15 7285/50 200 621027 62102 016 085 6.0 43 4368 2502
18 5F5/5.5 132 6208-2Z 6208-2Z 85.7 0.86 - 10.8 6.2 - 713 412 - : : : : . : : . ’ ‘
18 6F5/5.5 132 6208-7Z  6208-ZZ 85.7 0.86 - 10.8 6.2 - 713 412 A TE 200 Pz | GZivzz 20 D& . 260 29 . 488 222
18 7F5/7.5 132 6208-2Z 6208-2Z 87.0 0.89 = 14.1 8.1 - 1015 58.6 45 8-2F5/30 200 6210-2Z 6210-2Z 91.6 0.85 s 56.0 32.3 5 436.8 252.2
18 8F5/7.5 132 6208-2Z 6208-2Z 87.0 0.89 - 14.1 8.1 - 1015 58.6 45 8-0F5/30 200 6210-2Z 6210-2Z 91.6 0.85 - 56.0 32.3 5 436.8 2522
18 10F5/11 160 2000 D200 B8 OE% - 25 2 - L2230 G 45 9-2F5/30 200 6210-2Z 6210-2Z 91.6 0.85 - 56.0 323 - 436.8 252.2
18 12F5/11 160 6209-2Z 6209-22 88.7 0.84 - 215 124 - 144.0 83.1
45 9-0F5/37 200 6212-2Z 6212-27 92.2 0.86 = 67.5 39.0 - 519.7 300.0
18 14F5/15 160 6209-2Z 6209-2Z 89.7 0.85 s 28.5 16.5 s 205.2 1185
18 15F5/15 160 6209-27 6209-2Z 89.7 0.85 - 285 16.5 - 205.2 1185 45 10-2F5/37 210 s ez 2 0t - G5 SR - Ty e
18 16F5/15 160 6209-2Z 6209-2Z 89.7 0.85 = 28.5 16.5 o 205.2 118.5 45 10-0F5/37 200 6212-2Z 6212-2Z 92.2 0.86 - 67.5 39.0 - 519.7 300.0

10 11



EVM

B EVM(.)64
Pump Type ¥laiter : Stangjlrtilor;gt:frﬁsctee:chyn::é Gt FuII-I!ﬁ?edecur:rent [A] Locke_?hrotor rr;]urrent [A]
EVM(.) S ball bearing power-factor Three phase phase ree phase
Pump side Fan side n% cos-® 220V 380V 690V 220V 380V 690V
64 1-1F5/4.0 100 6206-2Z 6206-2Z 85.0 0.84 14.7 8.5 - 119.5 69.0 -
64 1-0F5/5.5 1328 6208-2Z 6208-2Z 85.7 0.86 - 10.8 6.2 - 713 41.2
64 2-2F5/7.5 1328 6208-2Z 6208-2Z 87.0 0.89 - 14.1 8.1 - 101.5 58.6
64 2-1F5/11 160M 6209-2Z 6209-2Z 88.7 0.84 - 215 12.4 - 144.0 83.1
64 2-0F5/11 160M 6209-2Z 6209-2Z 88.7 0.84 - 215 12.4 - 144.0 83.1
64 3-3F5/15 160M 6209-2Z 6209-2Z 89.7 0.85 - 285 16.5 - 205.2 118.5
64 3-2F5/15 160M 6209-2Z 6209-2Z 89.7 0.85 - 285 16.5 - 205.2 118.5
64 3-1F5/15 160M 6209-2Z 6209-2Z 89.7 0.85 - 285 16.5 - 205.2 118.5
64 3-0F5/18.5 160L 6209-2Z 6209-2Z 90.4 0.86 - 345 19.8 - 262.2 151.4
64 4-3F5/18.5 160L 6209-2Z 6209-2Z 90.4 0.86 - 345 19.8 - 262.2 151.4
64 4-2F5/18.5 160L 6209-2Z 6209-2Z 90.4 0.86 - 345 19.8 - 262.2 151.4
64 4-1F5/22 180 6210-2Z 6209-2Z 90.8 0.86 - 41.0 23.7 - 303.4 175.2
64 4-0F5/22 180 6210-2Z 6209-2Z 90.8 0.86 - 41.0 23.7 - 303.4 175.2
64 5-3F5/30 200 6210-2Z 6210-2Z 91.6 0.85 - 56.0 32.3 - 436.8 252.2
64 5-2F5/30 200 6210-2Z 6210-2Z 91.6 0.85 - 56.0 32.3 - 436.8 252.2
64 5-1F5/30 200 6210-2Z 6210-2Z 91.6 0.85 - 56.0 32.3 - 436.8 252.2
64 5-0F5/30 200 6210-2Z 6210-2Z 91.6 0.85 - 56.0 323 - 436.8 252.2
64 6-3F5/30 200 6210-2Z 6210-2Z 91.6 0.85 - 56.0 32.3 - 436.8 252.2
64 6-2F5/30 200 6210-2Z 6210-2Z 91.6 0.85 - 56.0 8283 - 436.8 252.2
64 6-1F5/37 200 6212-2Z 6212-2Z 92.2 0.86 - 67.5 39.0 - 519.7 300.0
64 6-0F5/37 200 6212-2Z 6212-2Z 92.2 0.86 - 67.5 39.0 - 519.7 300.0
64 7-3F5/37 200 6212-2Z 6212-2Z 92.2 0.86 - 67.5 39.0 - 519.7 300.0
64 7-2F5/37 200 6212-2Z 6212-2Z 92.2 0.86 - 67.5 39.0 - 519.7 300.0
64 7-1F5/37 200 6212-2Z 6212-2Z 92.2 0.86 - 67.5 39.0 - 519.7 300.0

12



